
1. Start with the obvious NFA to accept all strings w over {0,1} such that the second last symbol of w is 1. 
Use the subset construction procedure to convert this NFA to an equivalent DFA. Mark all the unreachable states 
(if any) in the converted DFA.



2. Consider the following NFA with   transition for the language  

Convert to a DFAaccepting the same language.



3. Let k be a positive integer constant, and L = {w \in {0,1}* | the k-th last symbol of w is 1}

(a) Prove that no DFA with less than       states can accept L.

(b) Prove that no NFA with less than k+1 states can accept L.



4. Let A and B be regular languages. Prove that the following language is also regular.



5. Let A be a regular language over {0,1}.
(a) Prove that the language B =                                           is regular.



(b) Prove that C =                                                    is regular.



6. Let L be a regular language over 

(a) Prove that the following langauge is also regular.



(b) Prove that the following language is also regular



(c) Prove that the following language is also regular.






